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Systems of Linear Equations Lesson #7:
Distance, Speed, and Time Applications

A student drove the 1245 km from Edmonton to Vancouver in 16!/2 hours. This included a
one hour stop in Golden and a 30 minute stop in Kamloops. She averaged 100 km/h on
the divided highways and 75 km/h on the non-divided mountainous roads. How much time

did she spend on the divided highways?
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she spent 1.8 hourS on the divided highways

A small cruise boat took 3 hours to travel 36 km down a river with the current. On the
return trip it took 4 hours against the current. Find the speed of the current and the speed of

the small cruise boat in still water.

Let %@m/’h be The Sp%‘{?d of “he cvrrent

distancel Km)| Speed (¥h) | Time (1)
DOWNSTICOM| 3/ +y) A} 2 cHeCE - 3(xn) *3b Hlx-y) =36
Upstream | Y (x+t r Ls:3(105%15) L U(1p.5-1.5)
ﬂMM - _ > g .Zb Rg:gb

supteacted by, 104=4) =36
when cgomg mﬁmm%
ke cureend- {@g‘%{%m}
the speed will pe fower
Thatn %a‘m% dpwngirea

Hx—Hy =30 (x3)

JJZ?C-‘ )2(3:. 194 37(*3.3 =3

Ti2x- 129 =108 3bs)+3y =36
2% = 252 39 = 4.5 still water speed =10.S Em/p
X =105 W=15 Coyrent speed = 1-5Fm /),

Complete Assignment questions #1 - #6
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